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materialised. Instead of gaining the competitive Indulgence (IVR) 40 68

advantage that they anticipated, the merger caused Source: a range of newspaper articles from 1998 to 2001, and
http://geert-hofstede.com

Questions Total: 25 marks

1. Using Hofstede’s cultural dimensions scores for 2. Evaluate the importance of culture in the context
the USA and Germany, analyse the likely differences of the Daimler-Chrysler merger and the potential
between each country’s national cultures from a problems in trying to change culture. (16 marks)
business perspective. (9 marks)

Essay question Total: 25 marks

Answer either of the following questions.

1. (Refer back to the discussion of mergers and takeovers in Chapter 11.)
Surveys show that about 65 per cent of mergers and takeovers fail to benefit
the acquiring company. To what extent might conflicting organisational
cultures play a part in the failure of mergers and takeovers to achieve their
expected success? (25 marks)

2. XYZ is a relatively new company that is highly innovative. Its organisational
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Daimler Benz had tried to administer the Chrysler the two car producers to move ever deeper

division as if it were a German company. In September into crisis.
2001, Business Week wrote: ‘Daimler-Chrysler have
combined nothing beyond some administrative

departments, such as finance and public relations.’

Table 16.2 provides Hofstede’s cultural dimensions
scores for the USA and Germany.

'V Table 16.2 Hofstede’s cultural dimension scores for the USA and Germany

Daimler-Chrysler was a cross-cultural merger that
Germany | USA

failed. Daimler Benz was a conservative, rigidly

a.njjnd jeuoniesjuebio buibeuep 9|

structured company. Chrysler was a much more Power Distance (PD) 35 40

informal and outward-focused company. These Individualism (IDV) - Nn_|

distinct organisational cultures were not addressed Masculinity (MAS) 66 62

properly during the merger process. As a result, Uncertainty Avoidance Index (UAI) 65 46

the expected and wished for synergy effects never Long-term Orientation (LTO) | 83 | 2

materialised. Instead of gaining the competitive Indulgence (IVR) 40 68

advantage that they anticipated, the merger caused Source: a range of newspaper articles from 1998 to 2001, and
http://geert-hofstede.com

Questions Total: 25 marks

1. Using Hofstede’s cultural dimensions scores for 2. Evaluate the importance of culture in the context

the USA and Germany, analyse the likely differences of the Daimler-Chrysler merger and the potential
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Unit 10 Managing strategic change

Toolbax

the right ‘fire in their soul'.

2.0nce the business had identified its mission -
essentially to solve the problem of ensuring that
men's trousers fit well - this enabled it to hire
the right technology leader - someone who loved
technology and clothes - and then build a highly
effective software engineering team.

Questions

1. Using Handy’s cultural model, analyse the type
of culture that s Likely to be evident at Bonobos.
(9 marks)
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the business, they needed to become owners. By
having a stake in the ownership of the company

in terms of shareholding, employees are more
committed and more focused on the company’s
objectives. The founder says that this feature is
unusual in the clothing business, and as a result
is an important source of competitive and cultural
advantage for the company.

‘Source: https:// bonobos.com and an artcle on www.businessoffashion.com

Total: 15 marks

2. Explain two problems related o its culture that
a company like Bonobos is likely to encounter as.
it grows. (6 marks)

Case study 3: Daimler-Chrysler - a culture clash

Author ad
This Case study develops material included in
the Fact file on Daimler-Chrysler on page 247

in Chapter 11 of this book. Read the Fact file
before continuing with this Case study.

e

In May 1998, Daimler Benz and the Chrysler Corporation,
two of the world's leading car manufacturers, agreed

to combine their businesses in what they claimed to

be a merger of equals. The merger resulted in a large
automobile company, ranked third in the world in terms
of revenues, market capitalisation and earnings, and
fifth in terms of the number of units sold. German and
American styles of management differed sharply. To

minimise this clash of cultures, the Daimler Chairman
decided to allow both groups to maintain their existing
cultures.

In an interview with the Financial Times in early 1999,
the Daimler Chairman admitted that the deal was
never really intended to be a merger of equals and
claimed that Daimler Benz had acquired Chrysler.
Chrysler reported a huge loss in 2000 and its share
value slipped by more than half its 1999 value.
A number of Chrysler's key players had left the
corporation and the remaining employees were
demoralised and demotivated. Within 19 months,
two American CEOs were dismissed and German
management took over.
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Questions

1. Using Hofstede's cultural dimensions scores for
the USA and Germany, analyse the likely differences
between each country’s national cultures from a
business perspective. (9 marks)

2. Evaluate the impo
of the Daimler-Ch
problems in trying

Essay question Total: 25

Answer either of the following questions

1. (Refer back to the discussion of mergers and takeovers in Chapter 11.)
Surveys show that about 65 per cent of mergers and takeovers fail to benefit
the acquiring company. To what extent might conflicting organisational
cultures play a part in the failure of mergers and takeovers to achieve their
expected success? @5

~

XYZ s a relatively new company that is highly innovative. Its organisational
structure involves a relatively flat hierarchy and a democratic leadership
style. It is beginning to enter European and Asian markets and is in
negotiations to set up a base in Malaysia. Discuss how the cultural models
of Handy and Hofstede might assist the company in ensuring that it has

an appropriate organisational culture in place as it moves forward @5





